# **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 8 - Bathgate
Valid Votes	7,692
Positions to be Filled	4
Quota	1,539

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
William Hannah BOYLE	Scottish National Party (SNP)		1,554
Barry BURROWS	Scottish National Party (SNP)		653
Harry CARTMILL	Scottish Labour Party		1,646
Charles KENNEDY	Scottish Conservative and Unionist		1,379
Lisa MCARTHUR	Scottish National Party (SNP)		346
Dale MCDOWELL	Scottish Green Party		120
John MCGINTY	Scottish Labour Party		1,152
Fiona Ann STEVENS	Scottish Liberal Democrats		97
Jim WALKER	Independent		745
		Total	7,692

Candidate William Hannah BOYLE Elected with 1,554 votes, being in excess of the quota of 1,539 Candidate Harry CARTMILL Elected with 1,646 votes, being in excess of the quota of 1,539

# **Transfers Report**

This report contains the transfers results.

### Stage 2 - Surplus of Harry CARTMILL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William Hannah BOYLE	0	0.00000	0.00000
Transfer to Barry BURROWS	73	0.06500	4.74500
Transfer to Harry CARTMILL	0	0.00000	0.00000
Transfer to Charles KENNEDY	145	0.06500	9.42500
Transfer to Lisa MCARTHUR	17	0.06500	1.10500
Transfer to Dale MCDOWELL	37	0.06500	2.40500
Transfer to John MCGINTY	1,157	0.06500	75.20500
Transfer to Fiona Ann STEVENS	11	0.06500	0.71500
Transfer to Jim WALKER	105	0.06500	6.82500
Value of non-transferable ballot papers			6.57500
	Total		107.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 3 - Surplus of William Hannah BOYLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William Hannah BOYLE	0	0.00000	0.00000
Transfer to Barry BURROWS	1,108	0.00965	10.69220
Transfer to Harry CARTMILL	0	0.00000	0.00000
Transfer to Charles KENNEDY	17	0.00965	0.16405
Transfer to Lisa MCARTHUR	264	0.00965	2.54760
Transfer to Dale MCDOWELL	21	0.00965	0.20265
Transfer to John MCGINTY	49	0.00965	0.47285
Transfer to Fiona Ann STEVENS	5	0.00965	0.04825
Transfer to Jim WALKER	44	0.00965	0.42460
Value of non-transferable ballot papers			0.44780
	Total		15.00000

# **Transfers Report**

This report contains the transfers results.

### Stage 4 - Exclusion of Fiona Ann STEVENS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William Hannah BOYLE	0	0.00000	0.00000
Transfer to Barry BURROWS	1	0.00965	0.00965
Transfer to Barry BURROWS	7	1.00000	7.00000
Transfer to Harry CARTMILL	0	0.00000	0.00000
Transfer to Charles KENNEDY	2	0.06500	0.13000
Transfer to Charles KENNEDY	11	1.00000	11.00000
Transfer to Lisa MCARTHUR	1	0.00965	0.00965
Transfer to Lisa MCARTHUR	1	0.06500	0.06500
Transfer to Lisa MCARTHUR	5	1.00000	5.00000
Transfer to Dale MCDOWELL	2	0.06500	0.13000
Transfer to Dale MCDOWELL	20	1.00000	20.00000
Transfer to John MCGINTY	1	0.00965	0.00965
Transfer to John MCGINTY	5	0.06500	0.32500
Transfer to John MCGINTY	29	1.00000	29.00000
Transfer to Jim WALKER	1	0.00965	0.00965
Transfer to Jim WALKER	13	1.00000	13.00000
Value of non-transferable ballot papers			12.07465
	Total		97.76325

# **Transfers Report**

This report contains the transfers results.

### Stage 5 - Exclusion of Dale MCDOWELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William Hannah BOYLE	0	0.00000	0.00000
Transfer to Barry BURROWS	6	0.00965	0.05790
Transfer to Barry BURROWS	2	0.06500	0.13000
Transfer to Barry BURROWS	33	1.00000	33.00000
Transfer to Harry CARTMILL	0	0.00000	0.00000
Transfer to Charles KENNEDY	1	0.00965	0.00965
Transfer to Charles KENNEDY	3	0.06500	0.19500
Transfer to Charles KENNEDY	9	1.00000	9.00000
Transfer to Lisa MCARTHUR	5	0.00965	0.04825
Transfer to Lisa MCARTHUR	1	0.06500	0.06500
Transfer to Lisa MCARTHUR	25	1.00000	25.00000
Transfer to John MCGINTY	1	0.00965	0.00965
Transfer to John MCGINTY	16	0.06500	1.04000
Transfer to John MCGINTY	20	1.00000	20.00000
Transfer to Fiona Ann STEVENS	0	0.00000	0.00000
Transfer to Jim WALKER	1	0.00965	0.00965
Transfer to Jim WALKER	4	0.06500	0.26000
Transfer to Jim WALKER	29	1.00000	29.00000
Value of non-transferable ballot papers			24.91255

Total

142.73765

# **Transfers Report**

This report contains the transfers results.

### Stage 6 - Exclusion of Lisa MCARTHUR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William Hannah BOYLE	0	0.00000	0.00000
Transfer to Barry BURROWS	241	0.00965	2.32565
Transfer to Barry BURROWS	8	0.06500	0.52000
Transfer to Barry BURROWS	320	1.00000	320.00000
Transfer to Harry CARTMILL	0	0.00000	0.00000
Transfer to Charles KENNEDY	1	0.00965	0.00965
Transfer to Charles KENNEDY	1	0.06500	0.06500
Transfer to Charles KENNEDY	4	1.00000	4.00000
Transfer to Dale MCDOWELL	0	0.00000	0.00000
Transfer to John MCGINTY	6	0.00965	0.05790
Transfer to John MCGINTY	3	0.06500	0.19500
Transfer to John MCGINTY	13	1.00000	13.00000
Transfer to Fiona Ann STEVENS	0	0.00000	0.00000
Transfer to Jim WALKER	4	0.00965	0.03860
Transfer to Jim WALKER	11	1.00000	11.00000
Value of non-transferable ballot papers			28.62870
N.P. The figures may not add due to rounding	Total		379.84050

# **Transfers Report**

This report contains the transfers results.

### Stage 7 - Exclusion of Jim WALKER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William Hannah BOYLE	0	0.00000	0.00000
Transfer to Barry BURROWS	20	0.00965	0.19300
Transfer to Barry BURROWS	8	0.06500	0.52000
Transfer to Barry BURROWS	144	1.00000	144.00000
Transfer to Harry CARTMILL	0	0.00000	0.00000
Transfer to Charles KENNEDY	1	0.00965	0.00965
Transfer to Charles KENNEDY	13	0.06500	0.84500
Transfer to Charles KENNEDY	160	1.00000	160.00000
Transfer to Lisa MCARTHUR	0	0.00000	0.00000
Transfer to Dale MCDOWELL	0	0.00000	0.00000
Transfer to John MCGINTY	6	0.00965	0.05790
Transfer to John MCGINTY	45	0.06500	2.92500
Transfer to John MCGINTY	303	1.00000	303.00000
Transfer to Fiona Ann STEVENS	0	0.00000	0.00000
Value of non-transferable ballot papers			194.01695
	Total		805.56750